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If a=9, 5=12, e=15 and S= “““" —— then find the uarua nf,jﬂ.:'. —-a)(¥ = b}y =¢)
uyr' Solve the inllnwing linear equatluns graphlcmly.
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Vi, "I'hrea uﬂlagea P, Q and R are not un tha same line. The people ur these villages
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want ic make a children pall-c at auch a plase which is H'qul{llﬂlﬂl'll from thess

. three villages. Alter ﬂxlng tha pluca of children park, prove that the Park is
n ~ equidistani from the lhree villages.
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nﬁd is 53, while
2 two then find the

G And 3 when divided by x+2 and
=3 rﬂspectiualy Calculate the value of a-and b. L '
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;/Pmua that the Iina segmant jolning the mid pnints of twu sicdes of a tangle, is
parallel to tha thlrd su:}a and is equal to one half of its lanE‘r"“
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Ifin the mrraspundnnua of the lwo right anglad- triangles the hypotenuse and one
side; of unﬂ triangle are congruent la the |w|mlﬂl'ﬂl‘lﬂ and tha O nnaspnndrng side of
; thn nthar. then prove that the lrhqnglaﬁ are congruent, At
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